January 04 2013 7th.gwb - 1/3 - Fri Jan 04 2013 13:29:13




January 04 2013 7th.gwb - 2/3 - Fri Jan 04 2013 13:43:11

ﬁ’_"f\f’f@e N = Hsinx N = Frosx

F]Mpl:""hal& = ))4)
Al

o} 3R () 2
y-:-ﬂrmsx HT\
i /M»/mr

A y=Hes 6

Arnplitude = | 4] = Y

>? = tDFS,'f\)(

[o, N = Ucos b y:cosé
7




January 04 2013 7th.gwb - 3/3 - Fri Jan 04 2013 13:58:15

Fernd 3

IR = sniKe N = Cos LB

.
P@/“UJ f*% S )<>D

(4 |
— A @
0\, >/,C'_0§; “5 = ]A:BL
odod = K _ . 2
Perdod = 2T - 272 (Tar)
Vo, \/——4(05“’_3 \f-:-c_osé




